Standard Lockers — 63000 Series

Triple Tier Installation Instructions

Thank you for selecting Salsbury’s standard triple tier lockers. These instructions are intended to assist you in assembling the lockers. Note that a 6 feet high locker is shown. Hole
locations on the 5 feet high locker are different. Assembly of the various locker components will be with #10 - 24 x 3/8” long slot less screws and #10 nuts (provided). Loosely fasten a
screw and a nut into every set of mating holes with the screw heads positioned on the outside of the locker or on the exposed surface.

One Wide Locker Assembly Step 3: Attach the second side panel and the right rear leg to the assembly of Step 2.
Attach an additional three coat hooks to the second side panel. The locker chassis is
Step 1: Attach the top shelf, bottom shelf, and three coat hooks to the back panel. now complete.
TOP SHELF,

TWO ADDITIONAL SLOTS NEAR FRONT

COAT HOOK (3)

SECOND
SIDE PANEL,

BACK PANEL UNIVERSAL

FLANGES FACING SHELVES / s

90° FLANGE AT REAR AND
FACING BACK PANEL
RIGHT REAR LEG
SLOT FACING SIDE PANEL
BOTTOM SHELF, SIMILAR TO TOP SHELF
Step 2: Turn the back panel on its back with the shelves pointing upward. Attach the Step 4: Attach the pre-assembled door frame onto the assembly of Step 3.

first side panel, the left rear leg, and two compartment dividers to the assembly from
Step 1. Attach an additional three coat hooks to the first side panel.

PRE-ASSEMBLIED
DOOR FRAME

COMPARTMENT DIVIDER (2)
45° FLANGE AT FRONT

90° FLANGE AT REAR AND
FACING BACK PANEL

FIRST
SIDE PANEL,
UNIVERSAL

Step 5: Tighten all fasteners checking for squareness of the locker while tightening.
Attach optional sloping hood, end bases or front base (see pages 4 and 5).

3 BACK PANEL Step 6: Place the locker in the installed location and anchor to the floor, wall, or to
LEFT REARLEG both. Individual job conditions will dictate the type of fastening anchors to use (not

SLOT FACING SIDE PANEL provided).

Step 7: Fasten all lockers in a row together by installing fasteners provided through
the side panels. Installation is now complete.

Phone: 1-800-562-5377 Int'l Phone: 323-846-6700
Fax: 1-800-562-5399 SA L S BURY INDU STR I ES Int'l Fax: 323-846-6800
www.lockers.com 1010 East 62 Street, Los Angeles, CA 90001-1598 engineering@Ilockers.com

Installation instructions are provided as general guidelines. It is advised that a professional installer be consulted. Salsbury Industries assumes no product assembly or installation liability.
Copyright © 2014 Salsbury Industries. All rights reserved. Page 1 of 5 3/27/14



Standard Lockers — 63000 Series

Triple Tier Installation Instructions

Three Wide Locker Assembly

Step 1: Attach a top shelf, a bottom shelf, and three coat hooks to a back panel.

TOP SHELF,
TWO ADDITIONAL SLOTS NEAR FRONT

COAT HOOK (3)

BACK PANEL,
FLANGES FACING SHELVES

BOTTOM SHELF, SIMILAR TO TOP SHELF

Step 2: Tum the back panel on its back with the shelves pointing upward. Attach the
first side panel, the left rear leg, and two compartment dividers to the assembly from
Step 1. Attach an additional three coat hooks to the first side panel.

COMPARTMENT DIVIDER (2)
45° FLANGE AT FRONT

90° FLANGE AT REAR AND
FACING BACK PANEL

FIRST
SIDE PANEL,
UNIVERSAL

"

LEFT REARLEG
SLOT FACING SIDE PANEL

BACK PANEL

Step 3: Attach the second top shelf, the second bottom shelf, and an additional three
coat hooks to the second back panel as in step 1.

Step 4: Simultaneously attach the assembly of Step 3 (second Step 1 assembly), the
second side panel, and two additional compartment dividers to the assembly of Step 2.
Attach three coat hooks to each side of the second side panel.

COMPARTMENT DIVIDER (2),
45° FLANGE AT FRONT,

COAT

STEP2 .
ASSEMBLY —2

SECOND SIDE PANEL,
90° FLANGE AT REAR AND

STEP 3 ASSEMBLY FACING STEP 2 ASSSEMBLY

Step 5: Attach the third top shelf, the third bottom shelf, and an additional three coat
hooks to the third back panel as in steps 1 and 3.

Step 6: Simultaneously attach the assembly of Step 5 (third Step 1 assembly), the
third side panel, and two additional compartment dividers to the assembly of Step 4.
Attach three coat hooks to each side of the third side panel.

COMPARTMENT DIVIDER (2),
45° FLANGE AT FRONT

STEP 4
ASSEMBLY

THIRD SIDE PANEL,
90° FLANGE AT REAR AND

STEP 5 ASSEMBLY FACING STEP 4 ASSSEMBLY]

Phone: 1-800-562-5377
Fax: 1-800-562-5399
www.lockers.com

SALSBURY INDUSTRIES

1010 East 62 Street, Los Angeles, CA 90001-1598

Int'l Phone: 323-846-6700
Int'l Fax: 323-846-6800
engineering@Ilockers.com

Installation instructions are provided as general guidelines. It is advised that a professional installer be consulted. Salsbury Industries assumes no product assembly or installation liability.
Copyright © 2014 Salsbury Industries. All rights reserved. Page 2 of 5 3/27/14



Standard Lockers — 63000 Series

Triple Tier Installation Instructions

Three Wide Locker Assembly (continued) Step 8: Position the pre-assembled door frames onto the assembly of Step 7 then
fasten one by one.

Step 7: Attach the last side panel and the right rear leg to the assembly of Step 6.
Attach three additional coat hooks to the last side panel. The locker chassis is now
complete.

PRE-ASSEMBLED
DOOR FRAMES

COAT HOOK (3)
STEP 6

ASSEMBLY

LAST SIDE PANEL,
90° FLANGE AT REAR AND
FACING STEP 6 ASSSEMBLY

RIGHT REAR LEG

SLOT FACING SIDE PANEL

Step 9: Tighten all fasteners checking for squareness of the locker while tightening.
Attach optional sloping hoods, end bases or front bases (see pages 4 and 5).

Step 10: Place the locker in the installed location and anchor to the floor, wall, or to
both. Individual job conditions will dictate the type of fastening anchors to use (not
provided).

Step 11: Fasten all lockers in a row together by installing fasteners (provided) through
the side panels. Installation is now complete.

Phone: 1-800-562-5377 Int'l Phone: 323-846-6700
Fax: 1-800-562-5399 SA L S BURY IND U STRI ES Int'l Fax: 323-846-6800

www.lockers.com 1010 East 62 Street, Los Angeles, CA 90001-1598 engineering@Ilockers.com

Installation instructions are provided as general guidelines. It is advised that a professional installer be consulted. Salsbury Industries assumes no product assembly or installation liability.
Copyright © 2014 Salsbury Industries. All rights reserved. Page 3 of 5 3/27/14



Standard Lockers — 63000 Series

Triple Tier Installation Instructions

Sloping Hood Installation (Optional)

Step 1: Assemble the top panel to the rear panel with #10 - 24 x 3/8” slot less screws Step 3: Attach the sloping hood to the top of the locker with #10 - 24 x 3/8" slot less
and #10 nuts (provided). Position the flange of the top panel behind the rear panel. screws and #10 nuts (provided).

TOP PANEL

FLANGE BEHIND ASSEMBLY
REAR PANEL FROM STEP 2

REAR PANEL

Step 2: Assemble the side panels to the top panel and rear panel with #10 - 24 x 3/8”
long slot less screws and #10 nuts (provided).

TOP PANEL

SIDE PANEL (2)

Phone: 1-800-562-5377 Int'l Phone: 323-846-6700
Fax: 1-800-562-5399 SA L S BURY IND U STRI ES Int'l Fax: 323-846-6800
www.lockers.com 1010 East 62 Street, Los Angeles, CA 90001-1598 engineering@lockers.com

Installation instructions are provided as general guidelines. It is advised that a professional installer be consulted. Salsbury Industries assumes no product assembly or installation liability.
Copyright © 2014 Salsbury Industries. All rights reserved. Page 4 of 5 3/27/14



Standard Lockers — 63000 Series

Triple Tier Installation Instructions

Front Base Installation (Optional) End Base Installation (Optional)
Position the front base between the front legs of the locker with the flange upward. Position the appropriate end base (right or left) behind the corresponding side legs
Assemble to the locker with #10 - 24 x 3/8” slot less screws and #10 nuts (provided). (right or left) of the locker with the flange upward. Assemble to the locker with #10 - 24
x 3/8” slot less screws and #10 nuts (provided). Repeat for the other side.
\ .
° [}
; , ’
N . . ‘
\ 9 3 0
\ A p i o
L
o
0 . \ 0
0 \ o a
\ i ™o
¢ I
|
o o 8l o
\ ﬂ ) y U
N
. '\ |
% 0 . i 9 '
\ | I
\ N :
0 |
d |
o [ FLANGE I
‘ UPWARD I
o, e AN
|
\ S |
\ .
N \ . RIGHT END BASE
N a\\ J .
FLANGE \}
UPWARD o
; 1" <
N % 0 4
9 Nl
a
FRONT BASE
LEFT END BASE
Phone: 1-800-562-5377 Int'l Phone: 323-846-6700
Fax: 1-800-562-5399 SALSBURY INDUSTRIES Int'l Fax: 323-846-6800
www.lockers.com 1010 East 62 Street, Los Angeles, CA 90001-1598 engineering@Ilockers.com

Installation instructions are provided as general guidelines. It is advised that a professional installer be consulted. Salsbury Industries assumes no product assembly or installation liability.
Copyright © 2014 Salsbury Industries. All rights reserved. Page 50of 5 3/27/14





